SEADIA 2= BE eHU

1. M3 SAIJIAE 0186t A= =2IHAH) MM ZALEILICH
2. 2019.04.0122 ZAIJIA ZHR=01 HEDO SHUHGH2LI S0 & X6HAIDl HHELICH

]

(2 H3)

SADIA AHIAG 2=H

(2 X8 @ HI18X M1, HM20Z HM1EH)

SR (E/M)., PIHNESE

T = HEH HI=
HAEE 950 950
HE Y 950 950
Sy 950 950
FMNEE 17.2515 17.2515 .0000 0.00%
FE8E e e 16.9864 16.9864 .0000 0.00%
Y 16.8683 16.8683 .0000 0.00%
HEE gy 16.8451 16.8451 .0000 0.00%
SEII(12-38) 15.9403 15.9403 .0000 0.00%
2otE SHEJ1(6-98) 15.7038 15.7038 .0000 0.00%
JIEtE (4,5,10,112) 15.7567 15.7567 .0000 0.00%
SEJI(12-31) 15.5915 15.5915 .0000 0.00%
= SH&J1(5-98) 10.6838 10.6838 .0000 0.00%
JIEFR (4,10, 1) 14.998 14.998 .0000 0.00%
SEII(12-38) 14.7806 14.7806 .0000 0.00%
S SHEJI(6-98) 14.1428 14.1428 .0000 0.00%
JIEtE (4,5,10,112) 14.2143 14.2143 .0000 0.00%
SEJI(12-31) 14.6732 14.6732 .0000 0.00%
SHED1(6-98) 14.0354 14.0354 .0000 0.00%
JIEFR(4,5,10, 1) 14.1069 14.1069 .0000 0.00%
SEII(12-38) 16.8468 15.8639 .9829 -5.83%
Z2EEE SHEJI(6-98) 15.3483 14.3654 .9829 —6.40%
JIEtE (4,5,10,112) 15.5161 14.5332 .9829 —6.33%
SEJI(12-31) 14.9239 13.941 .9829 —6.59%
H=d SHED1(6-98) 13.4254 12.4425 .9829 —7.32%
JIEHR(4,5,10, 1) 13.5932 12.6103 .9829 —7.23%
HELHIE 17.2788 17.2788 0.0000 0.00%
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